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Homework Answers
1. a) $947.20/week

b) $49254.40/year

2. Semi­monthly pays will be larger. Bi­weekly pays will occur more often.

3. $10.28/hr

4. Hourly would only be beneficial if you cut more than 4 lawns per hour and if you can maintain 
that pace throughout the day.

5. $530/month. Increase by $119.51/month.

6. $30/hr

7.a) $30539.19

b) $31394.29

c) $32398.91

8. a) 3hr 2 min = 3.03 hr, do this for each day to get total of 20 hr. ($198.00)

c) You don't paid for a couple minutes early or staying a couple minutes late so best to start at 
the specified times.
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Alternative Ways to Earn Money

A person who 
works for him­ or 
herself rather than 
for an employer
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When someone is 
paid a set rate

 for an amount produced
Piecework

An amount 
( usually a percentage )

 paid to someone
 for a business transaction

Commission
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Contract
A legal agreement that outlines 
term, conditions, and payments 

for work to be done

NOTE:  In a contract, you get the same pay
             regardless of how many hours it may

      take to finish the job.

Self Employed

VS

Piecework
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EXAMPLE #1:  

A car salesman earns 2 % commission on all of his total sales and also 
receives a base salary of $10/hour.  Yesterday, he sold a Nissan Quest for 
$40 000 and worked 8 hours.  What is his gross pay for that one day?

EXAMPLE #2:  
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MATH!

HOMEWORK...

Check out pages 69 and 70.

Questions 1 to 7

2.2 Build Your Skills Detailed Solutions.pdf
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Self Employment:

Adv: Freedom to work whenever

Dis: You have a lot of stress and 

         responsibility  

Piece Work:

Adv: More you produce the more you earn

Dis: Time means Money

ANS:$75 

ANS:15% 

ANS:If the cost of material increases, Gill could not charge more 

because he signed a contract.  

ANS:$14.86 

ANS: Work faster or charge more
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ANS: If she works fast she should go with the 5 arrangements an hour.  

5 x $2.75

= $13.75/ hr 

ANS:$2200

ANS:4­6 hours 

ANS:$15 200
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ANS:$66 666.67 

ANS:$360 



Attachments

2.2 Build Your Skills Detailed Solutions.pdf




Section 2.2 Alternative Ways to Earn Money, Build Your Skills, p102–103 


Student Resource p69–71 


 


Build Your Skills 


 


1. Refer back to the chart on p. 99 of this resource for a list of advantages and disadvantages 


of self-employment. Answers will vary about whether students prefer to be self-employed or 


not. 


 


2. a) Calculate the profit by subtracting the costs from the contract price. 


$500.00 − $425.00 = $75.00 


b) Calculate what percentage the profit is of the total contract. 
      


       
      


Gilles’s profit is 15%. 


c) If the price for materials increased, under most circumstances Gilles could not adjust the 


price because he signed a contract to deliver the product for a fixed price. 


 


3. a) Add the amounts to find Leo’s total income. 


$2500.00 + $7000.00 + $275.00 = $9775.00 


Subtract the expenses from the income to find the profit, from which Leo’s pay would be 


drawn. 


$9775.00 − $7200.00 = $2575.00 


The contracts are completed over one month at 40 h/wk. 


40 h/wk × 4.33 wk = 173.20 h 


$2575.00 ÷ 173.20 h = $14.87/h 


Leo earns $14.87/h. 


b) To raise his hourly rate, Leo would have to work more quickly so he could complete the 


contracts in fewer hours, or lower his material costs. 


 


4. $2.75 × 5 = $13.75 


On the piecework system, Ling would average 


$13.75/h. 


On an hourly basis, she would earn $13.25, so she would earn $0.50 an hour more at the 


piecework rate, but only if she maintained the rate of 5 arrangements an hour. If she is a fast 


worker, piecework might be the better option. 


 


5. a) Calculate the income Marlene will earn from the maintenance contract for the year. 


11 months × $200.00 = $2200.00 


b) Answers may vary. In general, for $200.00/month, Marlene would like to spend an 


average of 4 h at $50.00/h. She would not want to spend more than 5 or 6 hours. 


c) Add the design fee plus the maintenance contract for the year. 


$13 000.00 + $2200.00 = $15 200.00 


Marlene will earn $15 200.00 from this client. 


 


6. To calculate the amount of commission William needs to earn, subtract his salary from his 


total projected income. 


$32 000.00 − $24 000.00 = $8000.00 







A 12% commission means that he earns $0.12 for each dollar of sales. 


Calculate the value of the supplies sold to generate $8000.00 in commission. 
     


 
 


        


 
 


Multiply each side by the lowest common denominator, x. 


  
    


 
   


       


 
   


$0.12x = 8000.00 
     


    
 


        


    
 


x = $66 666.67 


William needs to sell electrical supplies worth $66 666.67 to earn $8000.00 in commission. 


 


7. a) Calculate Dorothy’s cabinet installation fees. 


12 cabinets × $15.00 = $180.00 


Calculate the service call fees. 


2 calls × 3 h = 6 h 


6 h × $30.00 = $180.00 


Add the two amounts to find the total amount earned. 


$180.00 + $180.00 = $360.00 


b) Answers may vary. Piecework is beneficial if the worker is efficient and can earn more 


than he or she would on an hourly basis. Working piecework allows the worker to decide 


how much work to take on. Refer back to the table on p. 99 for more pros and cons of 


piecework. 


c) Answers may vary. For an employer, paying on a piecework basis means he or she would 


not be paying benefits such as holiday pay or sick time. Also, someone working piecework 


would not get paid if business is slow. A disadvantage for an employer would be that a 


worker may not always be available or a worker may not work quickly enough to complete 


the work in a reasonable time. 


 


Extend Your Thinking 


 


8. a) You would need to measure the dimensions (length × height) of each wall. Then 


measure the dimensions of the fireplace and patio door, which would be subtracted from the 


total area, along with other open space such as a hallway, to arrive at the area to be painted. 


b) Other calculations include the price of primer, paint, edging tools, drop cloths, brushes and 


rollers, and so on. You would need to estimate the time involved, having determined how 


many coats of paint are needed. 


c) Let x = cost of supplies 


Let y = cost of labour 


Total cost = x + y 


Profit equals total costs subtracted from contract amount. 


Let P = profit 


Let C = costs 


Let A = amount of contract 


P = A – C 


Percentage profit equals amount of profit divided by amount of contract. 


Let Z = percentage profit 







Z = P ÷ A 





SMART Notebook


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Attachments Page 1

